9. In an experiment frogs are observed to prey on

insects in unit time. Calculate the average number

of insects consumed by a frog :

No. of Insects

No. of Frogs

70-90
90-110
110-130
130-150
150-170
170-190

40
35
60
70
100
65

T YA H, ThE T9T H, Hah &I &l YR wid §
ok gRI WA hidl & & &l AN HIST :

70-90 40
90-110 55
110-130 60
130-150 70
150-170 100
170-190 65
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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@W,@Wm'ﬁw 30 35 | ofEifaa (T, S g9)
FITT | TIF G 2 Fh T B ot .- ol 9® 9ol & S STl 9 ST SR W@
1. () What is Gene frequency ? sifreram 200 vsai H ufEifaa wifew) gow Tee

S emgfa F ® 2
(i1)) Define Founder Effect.
TRISUET JHIE i IR i |
(i11) What are Microsatellites ?
AghIeAEH 1 § ?
(iv) What is Speciation ?
YSIARTT 2

(v) Give the four names of softwares used in
prediction of molecular structure.

TIfTRIER T &1 T89HA & M 3T ad =R
Teaad & A1 fafew)

(vi) Write four basic DOS commands.

=R ofF® S| wHved & 99 fafem
(vil) What do you mean by Booting ?

Booting ¥ 9 F1 THeA ¥ ?
(viii) What is null hypothesis ?

I qRheaT 1 ¥ 2

Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
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. Write a note on Natural selection.

Jhfaeh X0 W U fewo fafem |

. Explain the causes of phenotypic variations.

BARENE fY=Ia % SR 99E |

. Write an essay on Natural theory.

TFHfae g W & o farem |

. Define structural adaptation and explain its various

types.
OIS AR ! Rt #ifve 9 o fafv=
ThR HHSARRU |

. Write a note on central dogma.

T2 ST W T feooit fafem |

. Write short notes on the following :

(@) Ultrasound

(b) Endoscopy

Frafafea = dfva femfrt fafe .
(31) HAHEETE

(9) TUSrR=hIH

. Define #test and write the uses of ttest.

(-test i IRYTST ST 9 sSR! YR fafaw |
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